.2. Klapptest - Flachenmafe umrechnen 1

Falte entlang der Linie und schreibe die Ergebnisse mit
den gegebenen Einheiten.

1) 39,66 a = m? 3966 m?

2) 3952 km? = ha 395200 ha

3) 3,247 dm? = mm 2 32470 mm?

4) 38,10 mm? = cm? 0,381 cm?

5) 8,163 mm? = cm? 0,08163 cm?
6) 5274 mm? = cm? 52,74 cm?

7) 1,123 m? = a 0,01123 a

8) 0,2882 ha = km? 0,002882 km?
9) 9629 cm?® = m? 0,9629 m*
10) 3507 ha = m? 35070000 m?2
11) 101,1 km? = a 1011000 a
12) 90,01 mm? = dm? 0,009001 dm?
13) 23,20 m? = cm? 232000 cm?
14) 0,6110 mm? = cm? 0,000110 cm?
15) 8195 m? = a 81,95 a

16) 513,3 a = m? 51330 m?

17) 2150 m? = dm? 215000 dm?
18) 1006 ha = m? 10060000 m?
19) 4101 m? = ha 0,4101 ha
20) 9568 km? = m? 9568000000 m?

Ergebnis:
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